PROJECT: Construction of the Module 4 Access Road

PROJECT LOCATION: Neal Road Sanitary Landfill

DESCRIPTION: Construction of an access road to Module 4 at the Neal Road Sanitary Landfill.

Aggregate base, asphalt concrete and drainage facilities are to be placed.

ADVERTISED: August 8, 2003 ENGINEER'S ESTIMATE = \$718,160.00

BID OPENED: August 29, 2003

PROJECT NUMBER: 757-5805

W.O. NUMBER: 5805

NO.	BIDDER'S NAME	BID AMOUNT	% ENGINEERS ESTIMATE
	Baldwin Contracting Co.		ESTIMITE
1	1764 Skyway	\$644,080.00	-10.32%
	Chico, CA 95928		
	Anderson Dragline Inc.		
2	P.O. Box 968	\$696,810.00	-2.97%
	Gridley, CA 95948		
	Robert R. Peacher, Inc.		
3	3107 Hwy 99	\$713,837.85	-0.60%
	Chico, CA 95973		
	Jaeger Construction, Inc.		
4	P.O. Box 1300	\$753,691.00	4.95%
	Yuba City, CA 95991		
	Franklin Construction,Inc.		
5	217 Flume St. #200	\$775,000.00	7.91%
	Chico, CA 95928		
	Stimpel-Wiebelhaus Associates		
6	P.O. Box 492335	\$799,779.00	11.37%
	Redding, CA 96049-2335		
	Hutchins Paving and Engineering Inc.		
7	16424 Clear Creek Rd.	\$875,796.00	21.95%
	Redding CA 96001		
	Granite Construction Company		
8	P.O. Box 50085	\$940,586.00	30.97%
	Watsonville, CA 95077-5085		
9			
10			
11			

ADVERTISED: August 8, 2003 PROJECT: Construction of the Module 4 Acess Road BID OPENED: August 29, 2003 PROJECT LOCATION: Neal Road Sanitary Landfill

PROJECT NUMBER 757-5805 DESCRIPTION: Construction of an access road to Module 4 at the Neal Road sanitary landfill. Aggregate base, asphalt

W.O. NUMBER: 5805 and drainage facilities are to be placed.

						1 2			2
CONTRACT ITEMS		ESTIMATE				Baldwin Contracting Co. 1764 Skyway Chico, CA 95928		Anderson Dragline Inc. P.O. Box 968 Gridley, CA 95948	
NO.	ITEMS	QUANTITY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL
1	Clearing and grubbing	1	LS	\$5,000.00	\$5,000.00	\$8,650.00	\$8,650.00	\$30,600.00	\$30,600.00
2	Develop water supply	1	LS	\$10,000.00	\$10,000.00	\$5,050.00	\$5,050.00	\$2,000.00	\$2,000.00
3	Storm Water Pollution Prevention Plan	1	LS	\$2,000.00	\$2,000.00	\$8,861.00	\$8,861.00	\$1,000.00	\$1,000.00
4	Roadway excavation	3,570	CY	\$20.00	\$71,400.00	\$23.00	\$82,110.00	\$25.00	\$89,250.00
5	Channel excavation	660	CY	\$20.00	\$13,200.00	\$24.00	\$15,840.00	\$20.00	\$13,200.00
6	Rock Energy Dissipaters	1	LS	\$5,000.00	\$5,000.00	\$4,900.00	\$4,900.00	\$3,000.00	\$3,000.00
7	Relocate LCRS Pipeline	1	LS	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
8	Channel reconstruction	1,840	LF	\$15.00	\$27,600.00	\$22.00	\$40,480.00	\$22.00	\$40,480.00
9	Import borrow material	13,570	CY	\$20.00	\$271,400.00	\$11.00	\$149,270.00	\$17.50	\$237,475.00
10	Aggregate base	7,350	TON	\$15.00	\$110,250.00	\$16.00	\$117,600.00	\$17.00	\$124,950.00
11	Asphalt concrete	1,300	TON	\$80.00	\$104,000.00	\$50.00	\$65,000.00	\$55.00	\$71,500.00
12	Asphalt concrete dike (Type A)	1,325	LF	\$5.00	\$6,625.00	\$4.60	\$6,095.00	\$2.00	\$2,650.00
13	CSP culvert @ Sta. 16+74 - 48" dia.	44	LF	\$75.00	\$3,300.00	\$205.00	\$9,020.00	\$120.00	\$5,280.00
14	CSP culvert @ Sta. 24+56 - 48" dia.	58	LF	\$75.00	\$4,350.00	\$193.00	\$11,194.00	\$100.00	\$5,800.00
15	CSP culvert @ Sta 6+25 - 18" dia.	100	LF	\$75.00	\$7,500.00	\$94.00	\$9,400.00	\$40.00	\$4,000.00
16	CSP culvert @ Sta 9+92 - 18" dia.	100	LF	\$75.00	\$7,500.00	\$66.00	\$6,600.00	\$30.00	\$3,000.00
17	CSP culvert @ Sta 6+93 - 12" dia.	70	LF	\$60.00	\$4,200.00	\$78.00	\$5,460.00	\$30.00	\$2,100.00
18	Steel pipe sleeve - 8" dia.	66	LF	\$60.00	\$3,960.00	\$50.00	\$3,300.00	\$25.00	\$1,650.00
19	Temporary railing (Type K)	1,875	LF	\$25.00	\$46,875.00	\$34.00	\$63,750.00	\$25.00	\$46,875.00
20	Erosion control - fill slopes (Type D)	1	LS	\$9,000.00	\$9,000.00	\$29,500.00	\$29,500.00	\$10,000.00	\$10,000.00
	TOTAL THIS SHEET SHEET 1 OF 3				\$718,160.00		\$644,080.00 -10.32%		\$696,810.00 -2.97%

ADVERTISED: August 8, 2003 BID OPENED: August 29, 2003 PROJECT: Construction of the Module 4 Access Road PROJECT LOCATION: Neal Road Sanitary Landfill

PROJECT NUMBER 757-5805

DESCRIPTION: Construction of an access road to Module 4 at the Neal Road sanitary landfill. Aggregate base, asphalt

W.O. NUMBER: 5805 and drainage facilities are to be placed.

CONTRACT ITEMS					3	4		5	
		-	ENGINEER'S ESTIMATE		Robert R. Peacher, Inc. 3107 Hwy 99 Chico, CA 95973		Jaeger Construction, Inc. P.O. Box 1300 Yuba City, CA 95991		Franklin Construction,Inc. 217 Flume St. #200 Chico, CA 95928
NO.	ITEMS	QUANTITY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL
1	Clearing and grubbing	1	LS	\$38,913.00	\$38,913.00	\$24,047.00	\$24,047.00	\$22,000.00	\$22,000.0
2	Develop water supply	1	LS	\$3,750.00	\$3,750.00	\$6,573.00	\$6,573.00	\$25,000.00	\$25,000.0
3	Storm Water Pollution Prevention Plan	1	LS	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$15,000.00	\$15,000.0
4	Roadway excavation	3,570	CY	\$18.00	\$64,260.00	\$12.50	\$44,625.00	\$17.00	\$60,690.0
5	Channel excavation	660	CY	\$20.00	\$13,200.00	\$7.00	\$4,620.00	\$17.00	\$11,220.0
6	Rock Energy Dissipaters	1	LS	\$8,750.00	\$8,750.00	\$8,815.00	\$8,815.00	\$10,000.00	\$10,000.0
7	Relocate LCRS Pipeline	1	LS	\$3,460.00	\$3,460.00	\$2,713.00	\$2,713.00	\$6,000.00	\$6,000.0
8	Channel reconstruction	1,840	LF	\$11.14	\$20,497.60	\$7.00	\$12,880.00	\$14.00	\$25,760.0
9	Import borrow material	13,570	CY	\$20.10	\$272,757.00	\$25.00	\$339,250.00	\$20.00	\$271,400.0
10	Aggregate base	7,350	TON	\$15.00	\$110,250.00	\$17.00	\$124,950.00	\$18.00	\$132,300.0
11	Asphalt concrete	1,300	TON	\$53.00	\$68,900.00	\$64.00	\$83,200.00	\$53.00	\$68,900.0
12	Asphalt concrete dike (Type A)	1,325	LF	\$4.10	\$5,432.50	\$2.00	\$2,650.00	\$5.00	\$6,625.0
13	CSP culvert @ Sta. 16+74 - 48" dia.	44	LF	\$172.00	\$7,568.00	\$119.00	\$5,236.00	\$165.00	\$7,260.0
14	CSP culvert @ Sta. 24+56 - 48" dia.	58	LF	\$154.00	\$8,932.00	\$106.00	\$6,148.00	\$165.00	\$9,570.0
15	CSP culvert @ Sta 6+25 - 18" dia.	100	LF	\$83.60	\$8,360.00	\$73.00	\$7,300.00	\$80.00	\$8,000.0
16	CSP culvert @ Sta 9+92 - 18" dia.	100	LF	\$50.00	\$5,000.00	\$44.00	\$4,400.00	\$60.00	\$6,000.0
17	CSP culvert @ Sta 6+93 - 12" dia.	70	LF	\$70.00	\$4,900.00	\$46.00	\$3,220.00	\$50.00	\$3,500.0
18	Steel pipe sleeve - 8" dia.	66	LF	\$35.00	\$2,310.00	\$34.00	\$2,244.00	\$75.00	\$4,950.0
19	Temporary railing (Type K)	1,875	LF	\$22.93	\$42,993.75	\$31.00	\$58,125.00	\$34.00	\$63,750.0
20	Erosion control - fill slopes (Type D)	1	LS	\$21,604.00	\$21,604.00	\$6,195.00	\$6,195.00	\$17,075.00	\$17,075.0
	TOTAL THIS SHEET SHEET 2 OF 3		\$713,837.85 -0.60%		\$753,691.00 4.95%		\$775,000.0 7.91		

ADVERTISED: August 8, 2003 BID OPENED: August 29, 2003

PROJECT NUMBER 757-5805 W.O. NUMBER: 5805 PROJECT: Construction of the Module 4 Access Road PROJECT LOCATION: Neal Road Sanitary Landfill

DESCRIPTION: Construction of an access road to Module 4 at the Neal Road sanitary landfill. Aggregate base, asphalt

and drainage facilities are to be placed.

					6 7		8			
CONTRACT ITEMS		ENGINEER'S		Stimpel-Wiebelhaus Associates		Hutchins Paving and Engineering Inc.		Granite Construction Company		
				P.O. Box 492335		16424 Clear Creek Rd.		P.O. Box 50085		
					Redding, CA 96049-2335		Redding CA 96001		Watsonville, CA 95077-5085	
NO.	ITEMS	QUANTITY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	
		,	LS	£42,000,00	£48,000,00	¢50,000,00	\$50,000,00	ΦΕ4 ΕΩΩ ΩΩ	₹ 54 500 00	
1	Clearing and grubbing	1		\$18,000.00	\$18,000.00		\$50,000.00	\$51,500.00	\$51,500.00	
	Develop water supply	1	LS	\$18,000.00	\$18,000.00	\$50,000.00	\$50,000.00	\$8,500.00	\$8,500.00	
	Storm Water Pollution Prevention Plan	1	LS	\$7,500.00	\$7,500.00		\$5,000.00	\$12,300.00	\$12,300.00	
	Roadway excavation	3,570	CY	\$8.70	\$31,059.00	\$12.00	\$42,840.00	•	\$64,260.00	
	Channel excavation	660	CY	\$20.00	\$13,200.00	\$12.00	\$7,920.00	\$22.00	\$14,520.00	
6	Rock Energy Dissipaters	1	LS	\$7,500.00	\$7,500.00	\$3,500.00	\$3,500.00	\$4,390.00	\$4,390.00	
7	Relocate LCRS Pipeline	1	LS	\$3,700.00	\$3,700.00	\$13,500.00	\$13,500.00	\$1,070.00	\$1,070.00	
8	Channel reconstruction	1,840	LF	\$9.00	\$16,560.00	\$11.00	\$20,240.00	\$22.00	\$40,480.00	
9	Import borrow material	13,570	CY	\$27.00	\$366,390.00	\$25.00	\$339,250.00	\$30.50	\$413,885.00	
10	Aggregate base	7,350	TON	\$18.00	\$132,300.00	\$19.00	\$139,650.00	\$17.00	\$124,950.00	
11	Asphalt concrete	1,300	TON	\$60.00	\$78,000.00	\$54.00	\$70,200.00	\$55.00	\$71,500.00	
12	Asphalt concrete dike (Type A)	1,325	LF	\$6.00	\$7,950.00	\$3.00	\$3,975.00	\$4.00	\$5,300.00	
13	CSP culvert @ Sta. 16+74 - 48" dia.	44	LF	\$220.00	\$9,680.00	\$210.00	\$9,240.00	\$200.00	\$8,800.00	
14	CSP culvert @ Sta. 24+56 - 48" dia.	58	LF	\$220.00	\$12,760.00	\$160.00	\$9,280.00	\$187.00	\$10,846.00	
15	CSP culvert @ Sta 6+25 - 18" dia.	100	LF	\$55.00	\$5,500.00	\$80.00	\$8,000.00	\$82.00	\$8,200.00	
16	CSP culvert @ Sta 9+92 - 18" dia.	100	LF	\$54.00	\$5,400.00	\$80.00	\$8,000.00	\$55.00	\$5,500.00	
17	CSP culvert @ Sta 6+93 - 12" dia.	70	LF	\$45.00	\$3,150.00	\$53.00	\$3,710.00	\$66.00	\$4,620.00	
18	Steel pipe sleeve - 8" dia.	66	LF	\$55.00	\$3,630.00		\$3,366.00	\$40.00	\$2,640.00	
	Temporary railing (Type K)	1,875	LF	\$28.00	\$52,500.00	\$31.00	\$58,125.00	\$35.00	\$65,625.00	
	Erosion control - fill slopes (Type D)	1	LS	\$7,000.00	\$7,000.00	\$30,000.00	\$30,000.00	\$21,700.00	\$21,700.00	
	TOTAL THIS SHEET				\$799,779.00		\$875,796.00		\$940,586.00	
	SHEET 3 OF 3				11.37%		21.95%		30.97%	